More Solving Quadratics Practice = Wodar 7,

Find the zeros of each function by graphing using a graphing calculator. If the zeros are imaginary,
use any appropriate method to locate them. Zimag. yoolts
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Werite a quadratic function in standard form for the information given. "

4. roots: x={-5,3 5. root: x = {-6} 6. roots: x = — —6
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7. vertex: (-6, -7) 8. x-intercepts: -2,2 9. points: (-1,5), (0, 3), (3,9)
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Solve each quadratic equation using any appropriate method. (. . . preferably the easiest!l © )
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16. x°=3x
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26. 3x°-5x+2:=0
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21. -2x°-8x+3=0
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27. 6x°-2%-1=0
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